

September 30, 2019

Mr. Anthony Talluto City of League City 300 W Walker St League City, Texas 77573

Re: City of League City Project I.D. 19-CIP-026

Bid Phase - Construction Award

Dear Mr. Talluto,

Per the Bid Tab Detail provided by City of League City, the apparent low bidder for the above-named project is Mar-Con Services, LLC with an original Bid Price of \$3,611,504.10. MBCO Engineering, LLC reviewed the Bid Tab Details and the submittal items provided by City of League City. We found several discrepancies in the Bid totals for multiple companies:

Company	Company Bid	MBCO Audit	Dif	ference
A Status Construction	\$4,043,809.35	\$4,043,809.35	\$	-
Fused Industries, LLC	\$3,987,058.55	\$3,986,658.55	\$	(400.00)
Lucas Construction Company, Inc.	\$4,155,001.50	\$4,155,001.50	\$	-
Mar-Con Services, LLC	\$3,611,504.10	\$3,600,758.10	\$	(10,746.00)
Precise Services, Inc	\$3,720,153.20	\$3,720,153.20	\$	-
Tandem Services, LLC	\$4,196,530.25	\$4,339,260.25	\$	142,730.00
Triple B Services, L.L.P.	\$3,897,437.80	\$3,897,037.80	\$	(400.00)

We recommend that City of League City award the construction contract to Mar-Con Services, LLC for the audited fee of \$3,600,758.10 based on the information provided above. If you have any questions or concerns, please contact me at your earliest convenience.

Sincerely,

Brock Crenek, P.E. Senior Vice President

MBCO Engineering, LLC

Project Name: Turner/Butler Reconstruction

APIN: Date to Advertise: 08/26/19
Job No: Bid Opening Date: 09/24/19

Consultant: MBCO

A Status Construction Fused Lucas Construction Mar-Con (Low Bidder) Precise Services (Second Low) Tandem Services LLC Triple B (Third Low)

								1		2		3		4		5		6		7	
				Engineer'	s Estimate	Avg of Three	Low Bidders	Bido	der 1	Bido	der 2	Bidd	ler 3	Bidd	er 4	Bidde	er 5	Bidder 6		Bid	der 7
				Grand Total=	\$3,920,309.72	Grand Total=	\$3,739,316.37	Grand Total=	\$4,043,809.35	Grand Total=	\$3,986,658.55	Grand Total=	\$4,155,001.50	Grand Total=	\$3,600,758.10	Grand Total=	\$3,720,153.20	Grand Total=	\$4,339,260.25	Grand Total=	\$3,897,037.80
Item No	Spec No.	MOU	Estimated Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
	SITE PREPA		quantity																		
1		EA	4.00	\$1,000.00	\$4,000.00	\$852.67	\$3,410.67	\$1,100.00	\$4,400.00	\$850.00	\$3,400.00	\$750.00	\$3,000.00	\$673.00	\$2,692.00	\$685.00	\$2,740.00	\$900.00	\$3,600.00	\$1,200.00	\$4,800.00
2	COLC - 603	SY	6,596.00	\$5.00	\$32,980.00	\$3.98	\$26,274.07	\$1.25	\$8,245.00	\$7.00	\$46,172.00	\$7.00	\$46,172.00	\$2.40	\$15,830.40	\$7.80	\$51,448.80	\$10.00	\$65,960.00	\$1.75	\$11,543.00
3	COLC - 603	SY	402.00	\$5.00	\$2,010.00	\$8.67	\$3,484.00	\$2.05	\$824.10	\$7.00	\$2,814.00	\$10.00	\$4,020.00	\$2.00	\$804.00	\$16.00	\$6,432.00	\$10.00	\$4,020.00	\$8.00	\$3,216.00
4	COLC - 603	SY	226.00	\$10.00	\$2,260.00	\$12.23	\$2,764.73	\$6.75	\$1,525.50	\$14.00	\$3,164.00	\$10.00	\$2,260.00	\$5.70	\$1,288.20	\$15.00	\$3,390.00	\$15.00	\$3,390.00	\$16.00	\$3,616.00
5	COLC - 603	SY	55.00	\$10.00	\$550.00	\$13.90	\$764.50	\$6.75	\$371.25	\$10.00	\$550.00	\$5.00	\$275.00	\$5.70	\$313.50	\$27.00	\$1,485.00	\$10.00	\$550.00	\$9.00	\$495.00
6	COLC - 603	SY	83.00	\$10.00	\$830.00	\$22.17	\$1,839.83	\$6.75	\$560.25	\$7.00	\$581.00	\$12.00	\$996.00	\$17.00	\$1,411.00	\$34.50	\$2,863.50	\$15.00	\$1,245.00	\$15.00	\$1,245.00
7	COLC - 603	LF	1,096.00	\$16.16	\$17,711.36	\$13.07	\$14,321.07	\$17.55	\$19,234.80	\$60.00	\$65,760.00	\$25.00	\$27,400.00	\$13.20	\$14,467.20	\$15.00	\$16,440.00	\$30.00	\$32,880.00	\$11.00	\$12,056.00
8	COLC - 603	EA	2.00	\$960.00	\$1,920.00	\$269.33	\$538.67	\$270.00	\$540.00	\$1,500.00	\$3,000.00	\$301.00	\$602.00	\$243.00	\$486.00	\$325.00	\$650.00	\$2,220.00	\$4,440.00	\$240.00	\$480.00
9	COLC - 408	EA	8.00	\$1,000.00	\$8,000.00	\$497.00	\$3,976.00	\$505.00	\$4,040.00	\$500.00	\$4,000.00	\$1,011.00	\$8,088.00	\$441.00	\$3,528.00	\$595.00	\$4,760.00	\$540.00	\$4,320.00	\$455.00	\$3,640.00
10	COLC - 607	EA	8.00	\$149.00	\$1,192.00	\$85.67	\$685.33	\$100.00	\$800.00	\$200.00	\$1,600.00	\$200.00	\$1,600.00	\$52.00	\$416.00	\$150.00	\$1,200.00	\$50.00	\$400.00	\$55.00	\$440.00
11	COLC - 603	LS	4.00	\$174.28	\$697.12	\$505.00	\$2,020.00	\$305.00	\$1,220.00	\$500.00	\$2,000.00	\$500.00	\$2,000.00	\$300.00	\$1,200.00	\$365.00	\$1,460.00	\$250.00	\$1,000.00	\$850.00	\$3,400.00
12	COLC - 603	LF	320.00	\$100.00	\$32,000.00	\$41.00	\$13,120.00	\$23.00	\$7,360.00	\$68.00	\$21,760.00	\$25.00	\$8,000.00	\$28.00	\$8,960.00	\$38.00	\$12,160.00	\$40.00	\$12,800.00	\$57.00	\$18,240.00
13	COLC - 603	EA	3.00	\$200.00	\$600.00	\$200.33	\$601.00	\$205.00	\$615.00	\$750.00	\$2,250.00	\$77.00	\$231.00	\$61.00	\$183.00	\$385.00	\$1,155.00	\$1,250.00	\$3,750.00	\$155.00	\$465.00
14	COLC - 603	EA	2.00	\$1,348.03	\$2,696.06	\$2,640.00	\$5,280.00	\$4,050.00	\$8,100.00	\$2,200.00	\$4,400.00	\$8,000.00	\$16,000.00	\$3,470.00	\$6,940.00	\$1,450.00	\$2,900.00	\$2,220.00	\$4,440.00	\$3,000.00	\$6,000.00
15	COLC - 603	LF	196.00	\$12.00	\$2,352.00	\$5.47	\$1,071.47	\$4.35	\$852.60	\$5.00	\$980.00	\$5.00	\$980.00	\$5.70	\$1,117.20	\$5.70	\$1,117.20	\$8.00	\$1,568.00	\$5.00	\$980.00
16	COLC - 603	LF	227.00	\$20.00	\$4,540.00	\$9.17	\$2,080.83	\$8.10	\$1,838.70	\$8.00	\$1,816.00	\$8.00	\$1,816.00	\$9.00	\$2,043.00	\$10.50	\$2,383.50	\$10.00	\$2,270.00	\$8.00	\$1,816.00
Subtotal	of Item A				\$114,338.54		\$82,232.17		\$60,527.20		\$164,247.00		\$123,440.00		\$61,679.50		\$112,585.00		\$146,633.00		\$72,432.00
В	PAVING																				
17	COLC - 603	CY	7,180.00	\$8.00	\$57,440.00	\$11.80	\$84,724.00	\$10.85	\$77,903.00	\$8.00	\$57,440.00	\$10.00	\$71,800.00	\$7.40	\$53,132.00	\$11.00	\$78,980.00	\$14.00	\$100,520.00	\$17.00	\$122,060.00
18	COLC - 603	CY	2,010.00	\$7.50	\$15,075.00	\$8.00	\$16,080.00	\$1.90	\$3,819.00	\$3.50	\$7,035.00	\$6.00	\$12,060.00	\$3.90	\$7,839.00	\$7.10	\$14,271.00	\$21.00	\$42,210.00	\$13.00	\$26,130.00
19	COLC - 604	SY	12,941.00	\$3.00	\$38,823.00	\$4.05	\$52,411.05	\$3.30	\$42,705.30	\$6.00	\$77,646.00	\$3.50	\$45,293.50	\$3.00	\$38,823.00	\$3.15	\$40,764.15	\$6.00	\$77,646.00	\$6.00	\$77,646.00
20	COLC - 605	SY	11,250.00	\$60.00	\$675,000.00	\$59.13	\$665,250.00	\$65.50	\$736,875.00	\$60.00	\$675,000.00	\$56.00	\$630,000.00	\$56.40	\$634,500.00	\$57.00	\$641,250.00	\$67.00	\$753,750.00	\$64.00	\$720,000.00
21	COLC - 605	LF	5,640.00	\$5.00	\$28,200.00	\$3.58	\$20,210.00	\$4.30	\$24,252.00	\$3.00	\$16,920.00	\$3.50	\$19,740.00	\$2.80	\$15,792.00	\$3.95	\$22,278.00	\$5.50	\$31,020.00	\$4.00	\$22,560.00
22	COLC - 806	SY	2,335.00	\$50.00	\$116,750.00	\$50.67	\$118,306.67	\$67.20	\$156,912.00	\$70.00	\$163,450.00	\$50.00	\$116,750.00	\$43.00	\$100,405.00	\$58.00	\$135,430.00	\$50.85	\$118,734.75	\$51.00	\$119,085.00
23	COLC - 801	SY	480.00	\$60.00	\$28,800.00	\$65.83	\$31,600.00	\$71.60	\$34,368.00	\$85.00	\$40,800.00	\$55.00	\$26,400.00	\$52.50	\$25,200.00	\$68.00	\$32,640.00	\$60.00	\$28,800.00	\$77.00	\$36,960.00
24	COLC - 806	EA	31.00	\$1,500.00	\$46,500.00	\$1,357.67	\$42,087.67	\$1,485.00	\$46,035.00	\$2,530.00	\$78,430.00	\$800.00	\$24,800.00	\$523.00	\$16,213.00	\$1,900.00	\$58,900.00	\$1,850.00	\$57,350.00	\$1,650.00	\$51,150.00
	COLC - 602	SY	92.00	\$60.00	\$5,520.00	\$73.67	\$6,777.33	\$74.00	\$6,808.00	\$99.00	\$9,108.00	\$60.00	\$5,520.00	\$52.00	\$4,784.00	\$84.00	\$7,728.00	\$80.00	\$7,360.00	\$85.00	\$7,820.00
	COLC - 605		181.00	\$1,250.00	\$226,250.00	\$16.47	\$2,980.47	\$15.25	\$2,760.25	\$43.00	\$7,783.00	\$6.00	\$1,086.00	\$13.40	\$2,425.40	\$21.00	\$3,801.00	\$52.00	\$9,412.00	\$15.00	\$2,715.00
	TxDOT - 360		1.00	\$40,000.00 \$2,000.00	\$40,000.00 \$2,000.00	\$137,666.67 \$1,346.33	\$137,666.67	\$75,000.00 \$3,285.00	\$75,000.00	\$103,000.00	\$103,000.00	\$126,000.00 \$1,456.00	\$126,000.00	\$357,000.00 \$1,334.00	\$357,000.00	\$17,000.00	\$17,000.00	\$85,000.00 \$4,560.00	\$85,000.00 \$4,560.00	\$39,000.00	\$39,000.00
	TxDOT - 467		1.00	\$2,000.00	\$2,000.00		\$1,346.33		\$3,285.00 \$5,820.00	\$2,500.00	\$2,500.00 \$4,800.00	\$4,930.00	\$1,456.00 \$4,930.00		\$1,334.00 \$5,000.00	\$980.00	\$980.00 \$4,350.00	\$9,000.00	\$9,000.00	\$1,725.00	\$1,725.00
	TxDOT - 467 TxDOT - 467		1.00 1.00	\$2,000.00	\$2,000.00	\$4,726.67 \$7,616.67	\$4,726.67 \$7,616.67	\$5,820.00 \$7,015.00	\$5,820.00	\$4,800.00 \$9,100.00	\$9,100.00	\$9,742.00	\$9,742.00	\$5,000.00 \$6,500.00	\$5,000.00	\$4,350.00 \$8,250.00	\$8,250.00	\$9,000.00	\$9,000.00	\$4,830.00 \$8,100.00	\$4,830.00 \$8,100.00
	TxDOT - 467		7,920.00	\$2,000.00	\$2,000.00	\$7,616.67	\$29,172.00	\$4.75	\$37,620.00	\$9,100.00	\$9,100.00	\$9,742.00 \$5.00	\$9,742.00	\$3.40	\$6,500.00	\$6,250.00	\$32,868.00	\$12,000.00	\$12,000.00	\$8,100.00	\$27,720.00
	COLC - 604		315.00	\$170.00	\$51,660.00	\$200.67	\$63,210.00	\$185.00	\$58,275.00	\$200.00	\$63,000.00	\$5.00 \$185.00	\$58,275.00	\$187.00	\$58,905.00	\$230.00	\$72,450.00	\$190.00		\$3.30 \$185.00	
•	of Item B	1011	010.00	ψ110.00	\$1,369,588.00	Ψ200.01	\$1,284,165.52	ψ100.00	\$1,319,452.55	Ψ200.00	\$1,347,692.00	ψ100.00	\$1,193,452.50	ψ107.00	\$1,354,780.40	Ψ200.00	\$1,171,940.15	ψ100.00	\$1,440,772.75	\$ 100.00	\$1,325,776.00
	STORM SEW				Ţ.,J.53,000.00		Ţ.,Ţ,		Ţ.,Ţ.J,Ŧ02.00		Ţ.,Ţ.,Ţ.		Ţ.,,		Ç.,00 .,100.40		Ţ., ij . 1		Ţ., . ,,,,,		+ .,5=5,1 1 0.00
	TxDOT - 402	LF	4,502.00	\$2.00	\$9,004.00	\$0.43	\$1,950.87	\$1.00	\$4,502.00	\$1.00	\$4,502.00	\$2.00	\$9,004.00	\$0.20	\$900.40	\$0.10	\$450.20	\$2.40	\$10,804.80	\$1.00	\$4,502.00
	COLC - 704		60.00	\$80.00	\$4,800.00	\$79.03	\$4,742.00	\$79.25	\$4,755.00	\$73.00	\$4,380.00	\$93.00	\$5,580.00	\$76.10	\$4,566.00	\$68.00	\$4,080.00	\$66.00	\$3,960.00	\$93.00	\$5,580.00
																				·	
35	COLC - 704	LF	1,609.00	\$80.00	\$128,720.00	\$95.80	\$154,142.20	\$98.00	\$157,682.00	\$84.00	\$135,156.00	\$101.00	\$162,509.00	\$97.90	\$157,521.10	\$92.50	\$148,832.50	\$84.00	\$135,156.00	\$97.00	\$156,073.00

Project Name: Turner/Butler Reconstruction

APIN: Date to Advertise: 08/26/19
Job No: Bid Opening Date: 09/24/19

Consultant: MBCO

A Status Construction Fused Lucas Construction Mar-Con (Low Bidder) Precise Services (Second Low) Tandem Services LLC Triple B (Third Low)

1 2 3 4 5 6 7

			-		•				1	2		3		4		5		6		7	
			_	Engineer's	s Estimate	Avg of Three L	ow Bidders	Bid	der 1	Bid	Bidder 2 Bidder		Bidder 3 Bidder 4		Bidder 5		Bidder 6		Bidder 7		
				Grand Total=	\$3,920,309.72	Grand Total=	\$3,739,316.37	Grand Total=	\$4,043,809.35	Grand Total=	\$3,986,658.55	Grand Total=	\$4,155,001.50	Grand Total=	\$3,600,758.10	Grand Total=	\$3,720,153.20	Grand Total=	\$4,339,260.25	Grand Total=	\$3,897,037.80
Item No	Spec No.	UOM	Estimated Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
36	COLC - 704	LF	891.00	\$145.00	\$129,195.00	\$144.63	\$128,868.30	\$164.00	\$146,124.00	\$154.00	\$137,214.00	\$159.00	\$141,669.00	\$133.90	\$119,304.90	\$145.00	\$129,195.00	\$126.00	\$112,266.00	\$155.00	\$138,105.00
37	COLC - 704	LF	1,233.00	\$220.00	\$271,260.00	\$220.17	\$271,465.50	\$274.25	\$338,150.25	\$210.00	\$258,930.00	\$254.00	\$313,182.00	\$192.50	\$237,352.50	\$230.00	\$283,590.00	\$242.00	\$298,386.00	\$238.00	\$293,454.00
38	COLC - 704	LF	585.00	\$390.00	\$228,150.00	\$365.17	\$213,622.50	\$485.50	\$284,017.50	\$340.00	\$198,900.00	\$399.00	\$233,415.00	\$332.50	\$194,512.50	\$385.00	\$225,225.00	\$385.00	\$225,225.00	\$378.00	\$221,130.00
39	COLC - 704	LF	86.00	\$420.00	\$36,120.00	\$557.47	\$47,942.13	\$716.50	\$61,619.00	\$750.00	\$64,500.00	\$594.00	\$51,084.00	\$522.40	\$44,926.40	\$550.00	\$47,300.00	\$644.00	\$55,384.00	\$600.00	\$51,600.00
40	COLC - 704	LF	46.00	\$5.33	\$245.18	\$32.00	\$1,472.00	\$29.00	\$1,334.00	\$24.00	\$1,104.00	\$20.00	\$920.00	\$19.00	\$874.00	\$30.00	\$1,380.00	\$24.00	\$1,104.00	\$47.00	\$2,162.00
41	COLC - 704	LF	52.00	\$60.00	\$3,120.00	\$50.83	\$2,643.33	\$52.00	\$2,704.00	\$82.00	\$4,264.00	\$78.00	\$4,056.00	\$33.00	\$1,716.00	\$47.50	\$2,470.00	\$42.00	\$2,184.00	\$72.00	\$3,744.00
42	COLC - 704	EA	8.00	\$1,985.00	\$15,880.00	\$3,510.67	\$28,085.33	\$3,475.00	\$27,800.00	\$2,400.00	\$19,200.00	\$4,059.00	\$32,472.00	\$3,582.00	\$28,656.00	\$3,450.00	\$27,600.00	\$2,580.00	\$20,640.00	\$3,500.00	\$28,000.00
43	COLC - 704	EA	26.00	\$3,500.00	\$91,000.00	\$3,593.67	\$93,435.33	\$4,300.00	\$111,800.00	\$2,800.00	\$72,800.00	\$4,249.00	\$110,474.00	\$3,781.00	\$98,306.00	\$3,500.00	\$91,000.00	\$4,200.00	\$109,200.00	\$3,500.00	\$91,000.00
44	COLC 704	EA EA	3.00 6.00	\$3,600.00 \$5,250.00	\$10,800.00 \$31,500.00	\$3,095.00 \$1,953.33	\$9,285.00	\$3,450.00 \$1,375.00	\$10,350.00	\$2,050.00	\$6,150.00	\$2,812.00	\$8,436.00 \$11,256.00	\$3,385.00	\$10,155.00 \$11,160.00	\$3,000.00	\$9,000.00 \$12,000.00	\$4,560.00 \$1,500.00	\$13,680.00	\$2,900.00	\$8,700.00 \$12,000.00
45 46	COLC - 704	EA	5.00	\$3,756.57	\$31,500.00	\$3,356.33	\$11,720.00 \$16,781.67	\$1,375.00	\$8,250.00 \$24,400.00	\$1,300.00 \$2,460.00	\$7,800.00 \$12,300.00	\$1,876.00 \$4,572.00	\$11,256.00	\$1,860.00 \$3,469.00	\$11,160.00 \$17,345.00	\$2,000.00 \$3,150.00	\$12,000.00	\$1,500.00	\$9,000.00 \$54,625.00	\$2,000.00 \$3,450.00	\$12,000.00
47	COLC - 704	CY	21.00	\$400.00	\$8,400.00	\$451.87	\$9,489.20	\$4,080.00	\$5,124.00	\$550.00	\$12,500.00	\$200.00	\$4,200.00	\$3,409.00	\$7,677.60	\$3,130.00	\$6,615.00	\$10,925.00	\$5,250.00	\$675.00	\$14,175.00
48	COLC - 704	SY	100.00	\$70.00	\$7,000.00	\$78.00	\$7,800.00	\$100.00	\$10,000.00	\$62.00	\$6,200.00	\$80.00	\$8,000.00	\$67.00	\$6,700.00	\$92.00	\$9,200.00	\$72.00	\$7,200.00	\$75.00	\$7,500.00
49	COLC - 704	LF	510.00	\$7.50	\$3,825.00	\$8.75	\$4,462.50	\$17.60	\$8,976.00	\$16.00	\$8,160.00	\$7.00	\$3,570.00	\$7.60	\$3,876.00	\$5.65	. ,	\$25.00	\$12,750.00	\$13.00	\$6,630.00
Subtota	of Item C				\$997,802.03		\$1,007,907.87		\$1,207,587.75		\$953,110.00		\$1,122,687.00		\$945,549.40		\$1,016,569.20)	\$1,076,814.80)	\$1,061,605.00
D	TRAFFIC CO																				
50	COLC 804	МО	12.00	\$4,000.00	\$48,000.00	\$2,545.47	\$30,545.60	\$2,130.00	\$25,560.00	\$1,340.00	\$16,080.00	\$4,000.00	\$48,000.00	\$1,591.40	\$19,096.80	\$4,250.00	\$51,000.00	\$6,000.00	\$72,000.00	\$1,795.00	\$21,540.00
Subtotal of Item D				\$48,000.00		\$30,545.60		\$25,560.00		\$16,080.00		\$48,000.00		\$19,096.80		\$51,000.00		\$72,000.00		\$21,540.00	
E	SIGNING AND	D PAVEME	NT MARKINGS																		
51	COLC - 607	EA	28.00	\$250.00	\$7,000.00	\$311.17	\$8,712.67	585	\$16,380.00	260	\$7,280.00	\$400.00	\$11,200.00	282.5	\$7,910.00	320	\$8,960.00	595	\$16,660.00	331	\$9,268.00
52	COLC - 608	LF	600.00	\$0.60	\$360.00	\$0.90	\$540.00	\$0.75	\$450.00	\$1.00	\$600.00	\$1.00	\$600.00	\$0.70	\$420.00	\$1.00	\$600.00	\$0.90	\$540.00	\$1.00	\$600.00
53	COLC - 608	LF	300.00	\$7.00	\$2,100.00	\$5.85	\$1,755.00	\$7.00	\$2,100.00	\$6.00	\$1,800.00	\$8.00	\$2,400.00	\$5.70	\$1,710.00	\$5.85	\$1,755.00	\$7.20	\$2,160.00	\$6.00	\$1,800.00
54	COLC - 608	LF	6,230.00	\$1.00	\$6,230.00	\$1.03	\$6,437.67	\$1.15	\$7,164.50	\$1.00	\$6,230.00	\$2.00	\$12,460.00	\$0.70	\$4,361.00	\$1.20	\$7,476.00	\$1.80	\$11,214.00	\$1.20	\$7,476.00
55	COLC - 608	LF	184.00	\$1.00	\$184.00	\$2.50	\$460.00	\$2.50	\$460.00	\$1.50	\$276.00	\$2.00	\$368.00	\$3.40	\$625.60	\$2.10	\$386.40	\$1.80	\$331.20	\$2.00	\$368.00
56	COLC - 608	LF	222.00	\$2.00	\$444.00	\$3.60	\$799.20	\$4.00	\$888.00	\$3.00	\$666.00	\$4.00	\$888.00	\$4.50	\$999.00	\$3.30	\$732.60	\$3.60	\$799.20	\$3.00	\$666.00
	COLC - 608	LF	31.00	\$3.50	\$108.50	\$9.07	\$281.07	\$7.00	\$217.00	\$6.00	\$186.00	\$8.00	\$248.00	\$5.70	\$176.70	\$10.50		\$7.20	\$223.20	\$11.00	\$341.00
	COLC - 608		2.00	\$150.00	\$300.00	\$148.10	\$296.20	\$235.00	\$470.00	\$150.00	\$300.00	\$150.00	\$300.00	\$141.30	\$282.60	\$150.00		\$150.00	\$300.00	\$153.00	\$306.00
	COLC - 608		15.00	\$150.00	\$2,250.00	\$144.10	\$2,161.50	\$162.00	\$2,430.00	\$120.00	\$1,800.00	\$150.00	\$2,250.00	\$141.30	\$2,119.50	\$145.00	\$2,175.00	\$150.00	\$2,250.00	\$146.00	\$2,190.00
	COLC - 608		1.00	\$150.00	\$150.00	\$144.10	\$144.10	\$162.00	\$162.00	\$120.00	\$120.00	\$150.00	\$150.00	\$141.30	\$141.30	\$145.00	\$145.00	\$150.00	\$150.00	\$146.00	\$146.00
61	COLC - 609	EA	30.00	\$3.00	\$90.00	\$5.95	\$178.50	\$4.75	\$142.50	\$4.40	\$132.00	\$5.00	\$150.00	\$3.70	\$111.00	\$7.15	\$214.50	\$5.40	\$162.00	\$7.00	\$210.00
62	COLC - 609	EA	20.00	\$11.00	\$220.00	\$1.97	\$39.33	\$1.35	\$27.00	\$0.60	\$12.00	\$5.00	\$100.00	\$3.70	\$74.00	\$1.20	\$24.00	\$0.60	\$12.00	\$1.00	\$20.00
63	COLC - 608	LF	10.00	\$0.50	\$5.00	\$1.10	\$11.00	\$0.55	\$5.50	\$0.40	\$4.00	\$1.00	\$10.00	\$1.10	\$11.00	\$1.20	\$12.00	\$0.60	\$6.00	\$1.00	\$10.00
64	COLC - 608	LF	25.00	\$0.80	\$20.00	\$1.10	\$27.50	\$1.10	\$27.50	\$0.70	\$17.50	\$2.00	\$50.00	\$1.10	\$27.50	\$1.20	\$30.00	\$1.20	\$30.00	\$1.00	\$25.00
65	COLC - 608	LF	93.00	\$1.20	\$111.60	\$1.10	\$102.30	\$1.35	\$125.55	\$0.85	\$79.05	\$4.00	\$372.00	\$1.10	\$102.30	\$1.20	\$111.60	\$1.80	\$167.40	\$1.00	\$93.00
66	COLC - 608	LF	22.00	\$2.40	\$52.80	\$2.97	\$65.27	\$2.05	\$45.10	\$1.50	\$33.00	\$5.00	\$110.00	\$2.30	\$50.60	\$3.60	\$79.20	\$3.60	\$79.20	\$3.00	
	COLC - 608		1.00	\$50.00	\$50.00	\$45.60	\$45.60	\$67.50	\$67.50	\$120.00	\$120.00	\$50.00	\$50.00	\$28.30	\$28.30	\$53.50			\$60.00	\$55.00	\$55.00
	COLC - 608	EA	1.00	\$50.00	\$50.00	\$45.60	\$45.60	\$67.50	\$67.50	\$120.00		\$50.00	\$50.00	\$28.30		\$53.50		\$60.00	\$60.00	\$55.00	
Subtota	of Item E				\$19,725.90		\$22,102.50		\$31,229.65		\$19,775.55		\$31,756.00		\$19,178.70		\$23,433.80		\$35,204.20		\$23,695.00

Project Name: Turner/Butler Reconstruction

APIN: Date to Advertise: 08/26/19
Job No: Bid Opening Date: 09/24/19

Consultant: MBCO

A Status Construction Fused Lucas Construction Mar-Con (Low Bidder) Precise Services (Second Low) Tandem Services LLC Triple B (Third Low)

1 2 3 4 5 6 7

								1 		2 		3 I		4		5 T		6 T			7
				Engineer'	s Estimate	Avg of Three	Low Bidders	Bide	der 1	Bido	der 2	Bidd	er 3	Bido	ler 4	Bidde	er 5	Bid	der 6	Bid	der 7
				Grand Total=	\$3,920,309.72	Grand Total=	\$3,739,316.37	Grand Total=	\$4,043,809.35	Grand Total=	\$3,986,658.55	Grand Total=	\$4,155,001.50	Grand Total=	\$3,600,758.10	Grand Total=	\$3,720,153.20	Grand Total=	\$4,339,260.25	Grand Total=	\$3,897,037.80
Item No	Spec No.	иом	Estimated Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
	STORM WATE	R POLLU	ION PREVEN	TION PLAN																	
69 T	TxDOT - 506	SY	6,410.00	\$4.00	\$25,640.00	\$3.68	\$23,610.17	\$4.75	\$30,447.50	\$4.00	\$25,640.00	\$5.00	\$32,050.00	\$3.40	\$21,794.00	\$4.15	\$26,601.50	\$5.50	\$35,255.00	\$3.50	\$22,435.00
70 T	TxDOT - 506	AC	1.00	\$1,500.00	\$1,500.00	\$1,410.67	\$1,410.67	\$1,625.00	\$1,625.00	\$1,350.00	\$1,350.00	\$2,000.00	\$2,000.00	\$1,582.00	\$1,582.00	\$1,450.00	\$1,450.00	\$1,850.00	\$1,850.00	\$1,200.00	\$1,200.00
71 T	TxDOT - 506	LF	5,816.00	\$1.20	\$6,979.20	\$1.47	\$8,530.13	\$2.70	\$15,703.20	\$2.00	\$11,632.00	\$2.00	\$11,632.00	\$1.50	\$8,724.00	\$1.80	\$10,468.80	\$2.50	\$14,540.00	\$1.10	\$6,397.60
72 T	TxDOT - 506	LF	702.00	\$70.00	\$49,140.00	\$2.77	\$1,942.20	\$6.75	\$4,738.50	\$3.00	\$2,106.00	\$4.00	\$2,808.00	\$4.20	\$2,948.40	\$3.00	\$2,106.00	\$6.00	\$4,212.00	\$1.10	\$772.20
73 T	TxDOT - 506	LF	135.00	\$70.00	\$9,450.00	\$7.17	\$967.50	\$20.25	\$2,733.75	\$3.00	\$405.00	\$4.00	\$540.00	\$4.50	\$607.50	\$12.00	\$1,620.00	\$8.00	\$1,080.00	\$5.00	\$675.00
74 T	TxDOT - 506	LF	119.00	\$50.00	\$5,950.00	\$65.43	\$7,786.57	\$161.50	\$19,218.50	\$50.00	\$5,950.00	\$20.00	\$2,380.00	\$63.30	\$7,532.70	\$33.00	\$3,927.00	\$50.00	\$5,950.00	\$100.00	\$11,900.00
Subtotal of				******	\$98,659.20	*******	\$44,247.23	*******	\$74,466.45	77777	\$47,083.00	¥=3.03	\$51,410.00	77000	\$43,188.60	*******	\$46,173.30	70000	\$62,887.00	*******	\$43,379.80
G	WATER				. ,		. ,		. ,		. ,						. ,		. ,		,
75 (COLC - 409	EA	1.00	\$1,100.00	\$1,100.00	\$1,977.33	\$1,977.33	\$1,320.00	\$1,320.00	\$2,490.00	\$2,490.00	\$2,419.00	\$2,419.00	\$1,449.00	\$1,449.00	\$2,050.00	\$2,050.00	\$2,220.00	\$2,220.00	\$2,433.00	\$2,433.00
76	COLC - 409	EA	2.00	\$1,800.00	\$3,600.00	\$2,168.67	\$4,337.33	\$1,550.00	\$3,100.00	\$2,200.00	\$4,400.00	\$3,184.00	\$6,368.00	\$1,986.00	\$3,972.00	\$1,900.00	\$3,800.00	\$3,420.00	\$6,840.00	\$2,620.00	\$5,240.00
	COLC - 409	EA	1.00	\$500.00	\$500.00	\$391.67	\$391.67	\$450.00	\$450.00	\$960.00	\$960.00	\$1,011.00	\$1,011.00	\$573.00	\$573.00	\$360.00	\$360.00	\$900.00	\$900.00	\$242.00	\$242.00
	COLC - 409	EA	1.00	\$3,000.00	\$3,000.00	\$2,384.90	\$2,384.90	\$2,675.00	\$2,675.00	\$2,430.00	\$2,430.00	\$2,895.00	\$2,895.00	\$2,434.70	\$2,434.70	\$2,250.00	\$2,250.00	\$3,420.00	\$3,420.00	\$2,470.00	\$2,470.00
79 (COLC - 409	LF	11.00	\$65.00	\$715.00	\$86.37	\$950.03	\$135.00	\$1,485.00	\$152.00	\$1,672.00	\$142.00	\$1,562.00	\$92.10	\$1,013.10	\$79.00	\$869.00	\$80.00	\$880.00	\$88.00	\$968.00
80 (COLC - 409	EA	1.00	\$1,200.00	\$1,200.00	\$719.17	\$719.17	\$745.00	\$745.00	\$1,800.00	\$1,800.00	\$2,470.00	\$2,470.00	\$887.50	\$887.50	\$630.00	\$630.00	\$2,340.00	\$2,340.00	\$640.00	\$640.00
81 (COLC - 409	EA	5.00	\$20,000.00	\$100,000.00	\$19,697.87	\$98,489.33	\$23,300.00	\$116,500.00	\$20,543.00	\$102,715.00	\$24,578.00	\$122,890.00	\$19,813.60	\$99,068.00	\$20,500.00	\$102,500.00	\$42,550.00	\$212,750.00	\$18,780.00	\$93,900.00
82 (COLC - 409	EA	2.00	\$1,800.00	\$3,600.00	\$1,826.67	\$3,653.33	\$1,180.00	\$2,360.00	\$6,570.00	\$13,140.00	\$8,429.00	\$16,858.00	\$2,130.00	\$4,260.00	\$1,650.00	\$3,300.00	\$4,200.00	\$8,400.00	\$1,700.00	\$3,400.00
83 (COLC - 409	LF	1,487.00	\$200.00	\$297,400.00	\$118.43	\$176,110.37	\$132.00	\$196,284.00	\$147.00	\$218,589.00	\$155.00	\$230,485.00	\$107.30	\$159,555.10	\$120.00	\$178,440.00	\$126.00	\$187,362.00	\$128.00	\$190,336.00
84 (COLC - 409	EA	2.00	\$27,500.00	\$55,000.00	\$53,047.00	\$106,094.00	\$67,050.00	\$134,100.00	\$43,000.00	\$86,000.00	\$55,716.00	\$111,432.00	\$42,641.00	\$85,282.00	\$59,500.00	\$119,000.00	\$14,000.00	\$28,000.00	\$57,000.00	\$114,000.00
85 (COLC - 407	LF	40.00	\$265.00	\$10,600.00	\$243.03	\$9,721.33	\$229.00	\$9,160.00	\$320.00	\$12,800.00	\$244.00	\$9,760.00	\$204.10	\$8,164.00	\$245.00	\$9,800.00	\$350.00	\$14,000.00	\$280.00	\$11,200.00
	COLC - 409	EA	6.00	\$4,500.00	\$27,000.00	\$6,666.00	\$39,996.00	\$7,425.00	\$44,550.00	\$6,800.00	\$40,800.00	\$11,738.00	\$70,428.00	\$6,648.00	\$39,888.00	\$6,550.00	\$39,300.00	\$6,480.00	\$38,880.00	\$6,800.00	\$40,800.00
	COLC - 408	LF	2,670.00	\$10.27	\$27,420.90	\$10.57	\$28,213.00	\$16.25	\$43,387.50	\$35.00	\$93,450.00	\$19.00	\$50,730.00	\$13.20	\$35,244.00	\$10.50	\$28,035.00	\$30.00	\$80,100.00	\$8.00	\$21,360.00
Subtotal o					\$531,135.90		\$473,037.80		\$556,116.50		\$581,246.00		\$629,308.00		\$441,790.40		\$490,334.00		\$586,092.00		\$486,989.00
	REE PROTE																				
	OLC - 01535	EA	49.00	\$85.00	\$4,165.00	\$409.67	\$20,073.67	\$540.00	\$26,460.00	\$440.00	\$21,560.00	\$300.00	\$14,700.00	\$254.00	\$12,446.00	\$475.00	\$23,275.00	\$600.00	\$29,400.00	\$500.00	\$24,500.00
	OLC - 01535	EA	21.00	\$750.00	\$15,750.00	\$849.00	\$17,829.00	\$1,080.00	\$22,680.00	\$880.00	\$18,480.00	\$600.00	\$12,600.00	\$592.00	\$12,432.00	\$955.00	\$20,055.00	\$1,200.00	\$25,200.00	\$1,000.00	\$21,000.00
	OLC - 02915 OLC - 02915	EA	9.00 6.00	\$700.00 \$50.00	\$6,300.00 \$300.00	\$989.00 \$155.43	\$8,901.00 \$932.60	\$1,215.00 \$189.00	\$10,935.00 \$1,134.00	\$1,000.00 \$150.00	\$9,000.00 \$900.00	\$1,000.00 \$500.00	\$9,000.00 \$3,000.00	\$1,017.00 \$141.30	\$9,153.00 \$847.80	\$1,050.00 \$165.00	\$9,450.00 \$990.00	\$2,800.00 \$800.00	\$25,200.00 \$4,800.00	\$900.00 \$160.00	\$8,100.00 \$960.00
	OLC - 02915 OLC - 01535		560.00	\$3.00	\$1,680.00	\$4.75	1	\$6.00	\$3,360.00	\$130.00	\$2,800.00	\$10.00	\$5,600.00	\$3.40	\$1,904.00	\$5.35	\$2,996.00	\$5.00	\$2,800.00	\$100.00	\$3,080.00
	OLC - 01535		260.00	\$5.00	\$1,300.00	\$10.13		\$8.00	\$2,080.00	\$7.00	\$1,820.00	\$20.00	\$5,200.00	\$15.80	\$4,108.00	\$7.10	\$1,846.00	\$50.00	\$13,000.00	\$7.50	\$1,950.00
94		HOUR	6.00	\$85.00	\$510.00	\$145.00		\$155.00	\$930.00	\$120.00	\$720.00	\$100.00	\$600.00	\$170.00	\$1,020.00	\$135.00	\$810.00	\$800.00	\$4,800.00	\$130.00	\$780.00
Subtotal					\$30,005.00		\$53,900.93	<u> </u>	\$67,579.00		\$55,280.00		\$50,700.00		\$41,910.80		\$59,422.00		\$105,200.00		\$60,370.00
I S	SANITARY																				
95 (COLC - 509	LF	69.00	\$65.00	\$4,485.00	\$40.70	\$2,808.30	\$67.50	\$4,657.50	\$53.00	\$3,657.00	\$212.00	\$14,628.00	\$33.10	\$2,283.90	\$52.00	\$3,588.00	\$66.00	\$4,554.00	\$37.00	\$2,553.00
96 (COLC - 509	EA	1.00	\$500.00	\$500.00	\$794.93	\$794.93	\$510.00	\$510.00	\$108.00	\$108.00	\$684.00	\$684.00	\$529.80	\$529.80	\$675.00	\$675.00	\$780.00	\$780.00	\$1,180.00	\$1,180.00
97	COLC - 408	LF	69.00	\$11.00	\$759.00	\$9.15	\$631.35	\$20.25	\$1,397.25	\$15.00	\$1,035.00	\$19.00	\$1,311.00	\$13.20	\$910.80	\$7.25	\$500.25	\$25.00	\$1,725.00	\$7.00	\$483.00
Subtotal o	of Item I			T	\$5,744.00		\$4,234.58	1	\$6,564.75		\$4,800.00		\$16,623.00		\$3,724.50		\$4,763.25	<u> </u>	\$7,059.00		\$4,216.00
	XTRA WORK	TEMS																			
98	COLC - 409	LS	1.00	\$3,000.00	\$3,000.00	\$6,855.00	\$6,855.00	\$8,000.00	\$8,000.00	\$42,000.00	\$42,000.00	\$5,000.00	\$5,000.00	\$565.00	\$565.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00

Project Name: Turner/Butler Reconstruction

APIN: Date to Advertise: 08/26/19
Job No: Bid Opening Date: 09/24/19

Consultant: MBCO

A Status Construction Fused Lucas Construction Mar-Con (Low Bidder) Precise Services (Second Low) Tandem Services LLC Triple B (Third Low)

1 2 3 4 5 6 7

									1	:	2	3		4		5		6		7	
				Engineer'	's Estimate	imate Avg of Three Low Bidders		Bidder 1		Bidder 2		Bidd	ler 3	Bidd	er 4	Bidder 5		Bidder 6		Bide	der 7
				Grand Total=	\$3,920,309.72	Grand Total=	\$3,739,316.37	Grand Total=	\$4,043,809.35	Grand Total=	\$3,986,658.55	Grand Total=	\$4,155,001.50	Grand Total=	\$3,600,758.10	Grand Total=	\$3,720,153.20	Grand Total=	\$4,339,260.25	Grand Total=	\$3,897,037.80
Item No	Spec No.	UOM	Estimated Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
99	COLC - 604	SY	2,000.00	\$3.00	\$6,000.00	\$3.70	\$7,400.00	\$2.50	\$5,000.00	\$6.00	\$12,000.00	\$3.00	\$6,000.00	\$3.00	\$6,000.00	\$2.85	\$5,700.00	\$6.00	\$12,000.00	\$5.25	\$10,500.00
100	COLC - 605	SY	1,700.00	\$60.00	\$102,000.00	\$57.30	\$97,410.00	\$48.50	\$82,450.00	\$74.00	\$125,800.00	\$56.00	\$95,200.00	\$56.40	\$95,880.00	\$51.50	\$87,550.00	\$67.00	\$113,900.00	\$64.00	\$108,800.00
101	COLC - 605	LF	850.00	\$5.00	\$4,250.00	\$3.45	\$2,932.50	\$3.25	\$2,762.50	\$2.50	\$2,125.00	\$3.00	\$2,550.00	\$2.80	\$2,380.00	\$3.55	\$3,017.50	\$5.50	\$4,675.00	\$4.00	\$3,400.00
102	COLC - 806	SY	350.00	\$50.00	\$17,500.00	\$48.83	\$17,091.67	\$50.00	\$17,500.00	\$70.00	\$24,500.00	\$50.00	\$17,500.00	\$43.00	\$15,050.00	\$52.50	\$18,375.00	\$50.85	\$17,797.50	\$51.00	\$17,850.00
103	COLC - 801	SY	70.00	\$60.00	\$4,200.00	\$63.50	\$4,445.00	\$54.00	\$3,780.00	\$85.00	\$5,950.00	\$60.00	\$4,200.00	\$52.50	\$3,675.00	\$61.00	\$4,270.00	\$60.00	\$4,200.00	\$77.00	\$5,390.00
104	COLC - 605	LF	30.00	\$1,250.00	\$37,500.00	\$15.80	\$474.00	\$11.50	\$345.00	\$43.00	\$1,290.00	\$6.00	\$180.00	\$13.40	\$402.00	\$19.00	\$570.00	\$52.00	\$1,560.00	\$15.00	\$450.00
105	COLC - 604	TON	50.00	\$170.00	\$8,500.00	\$191.17	\$9,558.33	\$170.00	\$8,500.00	\$200.00	\$10,000.00	\$180.00	\$9,000.00	\$186.50	\$9,325.00	\$205.00	\$10,250.00	\$190.00	\$9,500.00	\$182.00	\$9,100.00
106	COLC - 704	LF	200.00	\$60.00	\$12,000.00	\$92.13	\$18,426.67	\$73.00	\$14,600.00	\$85.00	\$17,000.00	\$101.00	\$20,200.00	\$97.90	\$19,580.00	\$83.50	\$16,700.00	\$84.00	\$16,800.00	\$95.00	\$19,000.00
107	COLC - 704	LF	150.00	\$125.00	\$18,750.00	\$138.30	\$20,745.00	\$122.00	\$18,300.00	\$150.00	\$22,500.00	\$159.00	\$23,850.00	\$133.90	\$20,085.00	\$130.00	\$19,500.00	\$126.00	\$18,900.00	\$151.00	\$22,650.00
108	COLC - 704	LF	200.00	\$200.00	\$40,000.00	\$209.17	\$41,833.33	\$204.00	\$40,800.00	\$200.00	\$40,000.00	\$254.00	\$50,800.00	\$192.50	\$38,500.00	\$205.00	\$41,000.00	\$242.00	\$48,400.00	\$230.00	\$46,000.00
109	COLC - 704	LF	100.00	\$370.00	\$37,000.00	\$349.17	\$34,916.67	\$360.00	\$36,000.00	\$340.00	\$34,000.00	\$399.00	\$39,900.00	\$332.50	\$33,250.00	\$345.00	\$34,500.00	\$385.00	\$38,500.00	\$370.00	\$37,000.00
110	COLC - 704	LF	20.00	\$400.00	\$8,000.00	\$535.80	\$10,716.00	\$535.00	\$10,700.00	\$730.00	\$14,600.00	\$594.00	\$11,880.00	\$522.40	\$10,448.00	\$495.00	\$9,900.00	\$644.00	\$12,880.00	\$590.00	\$11,800.00
111	COLC - 704	LF	10.00	\$5.33	\$53.30	\$31.00	\$310.00	\$21.50	\$215.00	\$23.00	\$230.00	\$25.00	\$250.00	\$19.00	\$190.00	\$27.00	\$270.00	\$24.00	\$240.00	\$47.00	\$470.00
112	COLC - 704	LF	10.00	\$60.00	\$600.00	\$48.67	\$486.67	\$38.30	\$383.00	\$80.00	\$800.00	\$78.00	\$780.00	\$33.00	\$330.00	\$43.00	\$430.00	\$42.00	\$420.00	\$70.00	\$700.00
113	COLC - 704	EA	5.00	\$1,985.00	\$9,925.00	\$3,360.67	\$16,803.33	\$2,600.00	\$13,000.00	\$2,250.00	\$11,250.00	\$4,059.00	\$20,295.00	\$3,582.00	\$17,910.00	\$3,100.00	\$15,500.00	\$2,580.00	\$12,900.00	\$3,400.00	\$17,000.00
114	COLC - 704	EA	5.00	\$3,500.00	\$17,500.00	\$3,443.67	\$17,218.33	\$3,200.00	\$16,000.00	\$2,700.00	\$13,500.00	\$4,249.00	\$21,245.00	\$3,781.00	\$18,905.00	\$3,150.00	\$15,750.00	\$4,200.00	\$21,000.00	\$3,400.00	\$17,000.00
115	COLC - 704	EA	5.00	\$3,600.00	\$18,000.00	\$2,978.33	\$14,891.67	\$2,555.00	\$12,775.00	\$1,950.00	\$9,750.00	\$2,812.00	\$14,060.00	\$3,385.00	\$16,925.00	\$2,700.00	\$13,500.00	\$4,560.00	\$22,800.00	\$2,850.00	\$14,250.00
116	COLC - 704	EA	5.00	\$5,250.00	\$26,250.00	\$1,870.00	\$9,350.00	\$1,015.00	\$5,075.00	\$1,250.00	\$6,250.00	\$1,876.00	\$9,380.00	\$1,860.00	\$9,300.00	\$1,800.00	\$9,000.00	\$1,500.00	\$7,500.00	\$1,950.00	\$9,750.00
117	COLC - 704	EA	5.00	\$3,756.57	\$18,782.85	\$3,239.67	\$16,198.33	\$3,625.00	\$18,125.00	\$2,350.00	\$11,750.00	\$4,572.00	\$22,860.00	\$3,469.00	\$17,345.00	\$2,850.00	\$14,250.00	\$10,925.00	\$54,625.00	\$3,400.00	\$17,000.00
118	COLC - 704	CY	5.00	\$400.00	\$2,000.00	\$416.67	\$2,083.33	\$183.00	\$915.00	\$160.00	\$800.00	\$200.00	\$1,000.00	\$365.00	\$1,825.00	\$220.00	\$1,100.00	\$350.00	\$1,750.00	\$665.00	\$3,325.00
119	COLC - 409	EA	5.00	\$500.00	\$2,500.00	\$349.33	\$1,746.67	\$330.00	\$1,650.00	\$950.00	\$4,750.00	\$1,011.00	\$5,055.00	\$573.00	\$2,865.00	\$325.00	\$1,625.00	\$900.00	\$4,500.00	\$150.00	\$750.00
120	COLC - 409	EA	5.00	\$3,000.00	\$15,000.00	\$2,328.23	\$11,641.17	\$2,000.00	\$10,000.00	\$2,400.00	\$12,000.00	\$2,895.00	\$14,475.00	\$2,434.70	\$12,173.50	\$2,050.00	\$10,250.00	\$3,420.00	\$17,100.00	\$2,500.00	\$12,500.00
121	COLC - 409	EA	5.00	\$1,200.00	\$6,000.00	\$595.83	\$2,979.17	\$550.00	\$2,750.00	\$1,800.00	\$9,000.00	\$2,470.00	\$12,350.00	\$887.50	\$4,437.50	\$570.00	\$2,850.00	\$2,340.00	\$11,700.00	\$330.00	\$1,650.00
122	COLC - 409	EA	5.00	\$20,000.00	\$100,000.00	\$18,937.87	\$94,689.33	\$17,300.00	\$86,500.00	\$19,500.00	\$97,500.00	\$24,578.00	\$122,890.00	\$19,813.60	\$99,068.00	\$18,500.00	\$92,500.00	\$42,550.00	\$212,750.00	\$18,500.00	\$92,500.00
123	COLC - 409	EA	5.00	\$1,800.00	\$9,000.00	\$1,481.67	\$7,408.33	\$900.00	\$4,500.00	\$6,450.00	\$32,250.00	\$8,429.00	\$42,145.00	\$2,130.00	\$10,650.00	\$1,450.00	\$7,250.00	\$4,200.00	\$21,000.00	\$865.00	\$4,325.00
124	COLC - 409	LF	200.00	\$200.00	\$40,000.00	\$114.10	\$22,820.00	\$98.00	\$19,600.00	\$105.00	\$21,000.00	\$155.00	\$31,000.00	\$107.30	\$21,460.00	\$105.00	\$21,000.00	\$126.00	\$25,200.00	\$130.00	\$26,000.00
125	COLC - 409	EA	5.00	\$27,500.00	\$137,500.00	\$48,083.33	\$240,416.67	\$50,000.00	\$250,000.00	\$42,000.00	\$210,000.00	\$55,716.00	\$278,580.00	\$35,250.00	\$176,250.00	\$53,500.00	\$267,500.00	\$14,000.00	\$70,000.00	\$55,500.00	\$277,500.00
126	COLC - 02915	EA	5.00	\$700.00	\$3,500.00	\$1,019.00	\$5,095.00	\$900.00	\$4,500.00	\$950.00	\$4,750.00	\$1,000.00	\$5,000.00	\$1,017.00	\$5,085.00	\$965.00	\$4,825.00	\$2,800.00	\$14,000.00	\$1,075.00	\$5,375.00
Subtot	al of Item J				\$705,311.15		\$736,942.17		\$694,725.50		\$797,345.00		\$887,625.00		\$669,859.00		\$743,932.50		\$806,597.50		\$797,035.00